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Christmas Addition
Solve the following word problems.

1 Santa has 3 candy canes in one hand and 5 in the
other. How many candy canes does he have in
total?

2 There are 2 red Christmas ornaments and 4 green
Christmas ornaments on a tree. How many
ornaments are there in total?

3 A child received 4 presents in the morning and 3
more in the evening. How many presents did the
child receive on Christmas?

4 There are 7 reindeer in a stable. 2 more join them.
How many reindeer are there now?

5 A Christmas tree has 3 silver stars and 6 gold stars.
How many stars are there on the tree?

6 Rudolph has 5 apples. Santa gives him 2 more.
How many apples does Rudolph have now?

7 There are 7 Christmas cookies on the plate. If
Santa eats 2, how many cookies are left?

8 There are 5 snowflakes on the window. If 4 more
snowflakes land on the window, how many
snowflakes are there in total?

9 Santa has 3 elves in the workshop. If 4 more elves
come to help, how many elves are there in total?


